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B A * | EERRtLy
WUE - 37 / SECTION . A
TS 597 / Objective Tyfe Questions
.mw@r1#_soaaa?§ﬁwmg¥/gaﬁ#w4om#aTméﬂré‘l
mm%wwf%mﬁvwgfﬁmﬁ#@-aﬁélmm?ﬁw
Wﬁﬁmaﬂ‘omvﬁzwfa@q##, L 40 x 1 =40

‘Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to

mark your selected opﬁon on the OMR sheet. 40x1=40

ik ﬁwf%rﬁgﬁﬁthaﬂ:r%?
() ey B T
(©) T K D (D) efrm Af

Which of the following is the male gamete ?

() Ovum - B) Sperm
- (©) Ovary (D) Fallopian .tub.e"
2. ﬁtﬁﬂaﬁﬁm'aﬂ@m% | '
(A/ rﬁm . (B) Mo

(C) IEA / D)
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An example of parasitic plant is

(A)  Mushroom | (B) Bryophyllum A
(C) Cuscuta - (D) Pinus

fyaie o S

A) wEH B) wEgH

(g e ))/ ® sqaaaaé:{za -

Binary fission’is found in

(A) Sponge R Y (B). 'Hydra

(©) Bacterid G ..(D) Nonec of tflc's_c
e & - g e A 22 '

) qﬁﬁsﬁﬁ el ._,(B') '

(C) AREEhE }( g/ zﬁ%ﬂ
Which hormone is secretcd{from pancreas ?

3 | -
(A) | Epinéphrihc o (B) Tcstostc’ro‘né
(C) NoGCmcphnﬁc , (D) i .Insulin

ﬁmﬁaﬁaﬁﬁ@rﬁqﬁﬁwmaﬁ%ﬁmm%?
.ﬁa’“’l  (B) ﬁﬂﬁﬁﬁﬁm

/wwﬁmx (D) sqﬁaaaé:@
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: . - ~lotti blood ?
Which among the following is responsible for clotting of

(A)  Blood platclets (B)  WBC
(€ RBC (D) Nonec of thesc

mﬁasﬁamﬁﬁm%mmﬁm@aﬁwﬁmmﬁqﬁm%?

W (B

(C) i 3w )}/ (D) T @

Which type of nitrlo_g'c‘nous wéstcs is excreted by living..,rr organisms ?
(A) Urea ’ ) B) Arﬁmonia :

(C)  Uric acid LR (D) All of these

fpsiiraeen # 8% a1 e s 1 T

() TR B

(B)  YTIIfeReH i
D

(€ TERA \ [) M/(A)aﬂ;(C) ?ﬂ';h i

The change in body that occurs duringradblcsccncc'is due to

(A)  Testosterone (B Thyrdgine
(€) _IEstro'gen i D) B (A) and (C)
A) - L @ e
© A D). R v

e
24(M)-H/S-41003-(54/60)
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D . [112 |
| The body is balanced by the organ '
(A) Cranium | . (B) Cecrebrum
(C)  Cercbellum ' (D)  Brain stem

9. @%mﬁmﬁmag%

(A)  MgCO, 9/ Na,CO,

(C) CaCO, (D) Mg (HCO,),

The chemical formula of Chalk is

(A)  MgCO, e (B)Nag o, |

(C) - CaCO,iin = Y D) Mg ('Hc:osj2
0. Fifen f Ar-ef g e 22

(A) - BT | D(B,)/?TT’GT '

© <@ )( D)

Which of " thé’ following metals is ‘t'hck i'nO’st. ducpﬂc ?

(A) © Gold R (B)_ Copper

(C) Iron | | (D) Zinc

11. ﬁﬁWWCSHQ%,%ﬁEﬁWWﬁmé? g

N | . B) 3

ols A g s
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18,

| 112

How many structural isomers of pentanc, having moleculay

formula C;H,, arc possible ?

(A) 2 B) 3

() 4 ’ D) 5
aqf\wmﬁa A8 >CO H *ad 3

(AL fcgriss wyg (B) e Eug

) Ueshlgldl |1g A ‘ (D)  HIEiet TE
The functional group SCO is called
(A)  aldchyde group © (B)  cther group-

(C)  alcohol group - (D) 'carbonyl group

ﬁém@aﬁ@m%maﬁmw\sﬂ T cilcﬂlﬁﬁ%&?ﬂ?ﬂ%l%
Aifies st o forctr 31 98 a Frtifepa et & @i 2 T 2 2

a) R By W

© e & O D) =i

\

A ‘mctal rcacts with oxygen to form a'compound with high melting

point. This compound is soluble in water. Which' of the following

~ clements can it be ?

(A)  Silicon ; (B) Carbon

(C) Calcium . (D) Iron

24(M)-H/S-41003-(54/60) Page 8 of 40
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(C) Fe | /‘ y//\u

Malachite is an orc of which metal ?

® Mg | (B) Cu

(C) Fe | (D) Au
5. w R e A 7 A B e 2

(a)  forga A (B wEw

ﬁgﬂ T X (D) F
The proccss of coating a Iaycr of zinc on iron is (,allcd
(A); _ clectroplating ' (B)J : corrosion
(C) clectroiysis . 1, (D) galvanisation |
16. %wqﬁmﬁaﬁq mmwm% ?
- Sim @)
(C) ifHe® 3 k fJ (D) BIGIFAINGh 3 |

 Which of the following acids is found in vincgar ?

(A) Acctic acid ' - (B) Sulphur'ic acid
~ (C) .Formic acid (D) Hydrochloric acid *
24(M)-H/S-41003-(54/60) , Page 9 of 40
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17, fre ot A 7 Frafirfe 3 58 o % gry gern o B 2
o e (B) 3w
9/_ fae \ /} (D) EwRd
Which of the following lenses is used to remove short i=,i8'1’1t¢drwSS ;
(A)  Cylindrical (B) Convex
(C) Cc)n-cavc | (D): Bifocal
(8. 3 s Y aTehl seere et st ST e 2
(A) AT % FAgy W (B) g mcrg T
© FwEFamiww (D T 8 R
Mést of the rcfractidn of fhc lighf rays cn‘tcring the cyé occurs at
(A)  Interface of c,y(, l‘c_'r'lé e (B) Interface of aqueous humour
(C) Outer surfacé of cOr.n}ca ‘(-D) , Non.cvof these
19. ﬁt{%ﬁaﬁﬁﬁ——réﬁaﬁ me% P
W e B) @
@ =y olw
Whiph of the following is the unit of power of lens ?
(A) dioptre " " (B)  watt

(C) erg (D)  joule

24(M)-H/S-41003-(54/60)
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| 20. mﬁﬁaﬁﬁsﬂmaﬂﬁﬂwwé?
() I | ., - (B)
What type of lens is found in human cyc ?
(A) Cénvcx - (B) | Bifocal :

(C) Concave o (D) Cylinc#riceil

21.'wémma®wm@m%° |

A SR / e

© WECTUT K- '.(1_3) ﬁﬁﬁﬁé?@

Whicfl mirror is uscd as s\havings‘.rnirror Pei -

(A) Concavc mirror (B')- _ Piane mirror

(C) Convex mirrdr " (D) None of these
09, %ﬁﬁa@w aaaaaq‘mgmwsrﬁfﬁa aﬁ&mﬂ, e %fma"@'ﬁ_asi qrn
| 'm,fﬁ‘a@a‘é’f@ﬁmﬁ@'—ﬁm° | i

(A) skl s W TR ‘.})/g@aqﬁwamam%r—;{é;aﬁa

.(C) W—%Eqix (D) a&m%gaamg@qﬁw%aﬁa'

24(M)-H/S-41003-(54/60)| Page 11 of 40 »
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. mi 1s virtus
If the image of an object formed by a concave mirror ual,

crcct and larger than the object then where should be the location

of the object ?

(A)  Bcyond the centre of curvature

(B)  Between principal focus and centre of curvature

(C) At the centre of curvature

(D)  Between the pole and principal focus of the mirror

23. WM T TR0 W Y e w way 3

(A" &4 Y armar ' (B) ¥ I &l I ek
B

(©) é@aﬁwm)‘i (D) ¥ & % 7

The capacity to bend rays of light is called -

(A)  the power of lens

'(B) fhe reciprocal of the power of the lens

(C)  the power of accommodation of the lens

(D)  none of these

24, mmmmwﬁﬁa@m%

(a) B “ g/zﬂ%n

(C) I Y - (D) 3 ¥ a@xfy

[24(M)-H/S-41 003-(s4/60)
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The image obtained by a concave lens is |
(A) diminished | B) crect
(C)  virtual (D) all of these
25.  Zn+CuSO, - ZnSO, +Cu
SR & TN gEafie 3rfirfear g g i @ 2 |
() wdeE sffE o (B)  feum srfirfen
| qu sfufigan X (D) Foriver sl
Zn+ Cuso, iy Zns0, +Cu
The above reaction is an cx'amplc' of a
(A) Combination rcaction
(B) | Displaccrﬁcnt rcaction
(C) Double diSplacement feaction
(D) Deéomposition reactién- | o
06, sy s woR § gl & ar S ST SR A
(AR | (B) o R
© onfafawnd K 0 e d @i

. On moving from right to left across thc period of the modern

periodic table, the atomic size

(A) increascs (B)  decrcascs

(C)  remains unchanged (D) . none of these

24(M)-H/S-41003-(s4/60) Page 13 of 40
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27, e Afefar e e et 2, A1 Sew g o o A @

(A) e s

'thn magncsium ribbon is ignited, the flame produccd by it is

(A) - Ycllow- (B) - Bluc

(é) | Dd//lmg white ' & tD) Red
28. Q@?ﬁm{ﬂ C. H@%| 3@}%

(4) o TR d /saa:raﬁwaaq

(C) 7 WEEdlSh S g4 (D) 6 TG T

The molc.CLilar_‘ forfnula vaé'th'anc: is C,H,. It has

A 9 covalent bonds Y e (B) : g covalcﬁt bonds
(C) 7 covalent bonds s ,._(DI)V S 6lcovalent bonds

29, _mﬁmﬁ@a@ﬁ@m%mmaﬁmmmﬁ
(A) . difer g /m :mcs Ui

(C)  =elt g k ) D) [ forem

The chcmlcal substdncc uscd as a cast for scttmg brokcn‘ boncs in

surgery is
(A)  Washing soda | (B) . Plaster of Paris
.(C') Quicklimc g Wi )(D) _ (Jypsum

24(M) H/S 41003 -(54/60)|
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() KCl . B)  MgCl,
y CH, - \/! ) (D) ' NaCl
Which one of U;lC following is a covalent C(;mpound ?
(A) KCI (B) Mglcn2
'(C) CH, IR (D)  NaCl
3i. SR Felives w1 S forerm 2 E
| @A) R B) T
(ol )( o) wAAEE
An aqucous solution of ammonium chloridc is’ /
(B)  deidic |

(A) neutral

\

(D).. none of these:

, (C) basic
32. ﬁmﬁsﬁﬁﬁqﬁgazmgam% ?
(A) - i | '-\_’(B), SIRISES
(© e : )i o) atmsz
Which of the following is av goo'd‘ conductor‘df electricity ?
(A) Plastic B (B) Iodiﬁc
| (C) Sulphur | ‘ (Dj ’Gr.a'lphitc

Page 15 of 40
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33.

34.

35.

[ 112

gﬁﬁuﬁ%@mﬁmﬁawwﬁﬁwwéﬁﬂﬁﬁﬁﬁ”mwé'
ag;i?ﬂﬁﬁw |

(A) kJ

(C) el &l ST Fhdl J (D) mﬁaﬁéﬂ'@

Out of a combination of resistors, onc resistor is removed and it is

found that thc nct resistance has incrcascd. The resistor was

connccted in

(A) parallel . (B) series

(C) cannot be said (D). none of these

T HH T (60 W, 200 V) Td (40W, 200\'/)“%5 a“f ST 100 V Jmgfd 3

T3 B F U WG @

(A) 25W @/10 W

(C) 15W \J) (D) & ¥ HIS TE

Two appliances rated as (60 W, 200 V) and ( 40 W, 200 V ) are
connected across 100 V supply in a room. The total power
consumed is |

(A) 25W (B) 10W -

(C) 15W (D) none of these
Frifa 8 FH-m1 w8 frga-afwy # Rrea-nife %) frefig @ 2 0

(A) I°R e WVQ/R

© Vi >< (D) & T

24(M)-H/S-41003-(54/50) Page 16 of 40




Which of the following statemcents is truc ?

(A) volt = ampere + ohm  (B)  volt = ohm ~ ampere
(C) amperc = volt + ohm (D) ampcrc _ ohm + volt
39 fefafea wet § 9 8
w o m e
' .\_(9/ Wﬁﬁm kl J (D) = gt

Which of the following substances is a conductor ?

(A) Mica ' (B) Glass
(C) Aluminium . (D)- -Porcclai,n

40. ﬁﬂzﬁqmmﬁ%%ﬁﬁﬁﬁﬂ\@ﬁﬁ I é-lld?qch'%?.
(a)  EfmEm | -.“(ia)_aj;ﬁxm

Which of Lhc following is necessary to obteﬁn r‘luc_lcar energy ?
@) Helium : " (B) Uranium
©)  Aluminium S D Chiremitiog
41.  Affem 6 o T 12 1 sH e w2 o
@A) 1 ' (B) 21 l

© 3 : )& | \@/‘4

24(M)-H/S-4 1003-(54/631
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112

The atomic number of magnesium is 12. What is its valency ?

A). 1 B 2

c 3 ' (D) 4

foreifepa  fopm arg <1 fereenem Sue waw % feram @ et g0 B @ 2

(A) T (B) wifeEm

(C) hicdsm e D i

Which of the following mctals is di'Spiaccd from its salt sqluti‘on by
iron ?

(A) Coppcr‘ i1 o ‘(B)'“ ; “Sodﬂium‘

(C) Calcium . | | - (D) Magr}(;sigm

5 AL B

(€) Tewem )< (D) W

Thc‘ commercial 'produétion_ of cyhyl alco_hol is ;'_'done by which -
chemical process ?
(A) Oxidation @~ (B) Reduction

(C) Fermentation - (D) ~Roasting

24(M)-H/S-41003-@4/s0] - Page 19 of 40




44, w—«ﬁzggnwmﬁaﬁqgw%?

(A)  Ca(OH), : (B) CaO

(C)  Ca(HCOy), X T (D CaCOy ,

What is the chemical formula of quicklime ?

\(A)l‘ Ca(OH), AR (B) . €a0
(©) Ca(HCO,), (D) . CaCo,
45, M’é’r—!g?ﬁm% it |
(A) NaCl+KIO, B B‘ ' NaCl+ Kl

QT o 5y 2 \) sqﬁ@fﬁéqeﬁ

Iodized salt is ey
(A) NaCl +K1c5 L f “,f‘_’((B) NaCl + KI

(C) Both (A) and (B ( ) : (D) | None of thésc

'46.‘-Wm&ﬁgwumaﬁamw%p‘ |

- Sfeam webe |

‘(C) Hfomm a?iiz

What is the chc;mical namc éf 'I‘?léstérlé)‘f paﬁs 2
(A)‘ Calcium sulphaté _

(B) Calcium S'ulpﬁate monohydrate

(C)  Calcium sulpha..tc hcmlhydrdtc

(D)  Calcium ch10r1de

. 24(M)-H/S-4‘1003;(54/60) ' i
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7. At ot A o TR e 2 .
' (A)— TR (B) S
(€ g \]) (D) ST A hIg TR
What is present in cathode rays ?
(A)  Electron | (B)  Proton
(C) Neu'tron‘ (D) No-ne. of these_
g, s i e fafer 2 2
e B _
(©) P \‘ J (D), = A B3 T |
‘Which mode of nutrition is f/;)uhd in fungi ?
(A)  Holozoic (B) . Saprophytic
(C) Autot}r,ophicv . (D) Nonc of thcsc »

49, e T ST 2

_(A) e H (B) TomEH
© wwH >< s
: Latex 1s f.oun-d in |
(A)  Pinus . (B) Rosc
(©  Nerium 4t 1 (D) .. Mango

24(M)-H/S-41003-(54/60) Page 21 of 40




50. tgR @Ted B @

(A) 378 gl (B) ! |
3;”ng|'21' g
: oft gl (D) .
L R A |

Androgen is secreted by the

(A) Ovary (B) Testcs

(é) Duodenum (D) Stomach

51. dfdeR WA &

(A) ﬁgw kp | (B) AT T

(C) TSI I { vf@;/f[éﬂf(w

Style is part of |

(A) Filament | (B)  Gynoecium
() Ovary (D) Stamen
52. wgft W | g
W B) s W

9/@3‘%“ )< (D) B afq &
Duodenum is a part of

(A) Buccal cavity (B) Stomach

(C) Large intestine |
e (D) Smaj intestine

. : 24(M)"H/S'41003-(54,60)’ p
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54.

[112 ]

s # i foog, ARaw, Qfmar qen wwel et s

(A~ ERSEAE (3)  SFA aF

(C) uT=d T )& (D) vaEA o

In human beings, nasal cavity, larynx, trachca and lungs combinc
to form |

(A) cxcretory system (B) reproductive system

(C)  digestive system (D) respiratory system

Ted § g I @ |

(A)  STEfer w1 HEeE | (B) UHHT 3 HerEd

/a’aaa%q \‘) D) %ﬁtﬂaag:r

S5.

In plant% xylem is rcspon51blc for

(A) oxygen conduction (B) amino acid conduction
(C)  water conduction | (D) food conduction
forerfem 2

(o) dTeH EHA, . B) T

9/ Eﬁraﬁglsézz x (D) =

~ Gibberellin is

(A) a phytohormone (B) an enzyme

(C) carbohydrate (D) fat

24(M)-H/S-41003-(54/60) - Page 23 of 40



56. Ww'whwﬁﬁmmg?
) s B e
'(C)l msa‘mgﬁ:r \]) (D) arffae

| : - 2
Wilting of leaves is due to which phytohormone

(A)  Ethylenc (B)  Abscisic acid
| ©) _cytokinin ' (D) -AAu'xin
@) e BT W
@(?ﬂﬂﬁ% | X (D) ET%h
The Wc;rd 'Géne' was coined by :
(A) Mendel T -» L(B) thanﬁsen'
C) Lal;narck" 3 & (D) Darwin

58, Frees i ot st 7 d g 2 L
. \(/A)/_?ﬂli?ﬁ L SRt . Ry &

@ gemd \Y> (D) . Sy l
~. fn Which.éf't‘he fblléwihg binary fission does not oceyr o
A)  Yeast i B rrgmaecty

€ Biglens - (D)




L D < |
59, o e A A AR s w € 2

RV se - (B) A
() el DT qrrrrﬁw
Pollen grains arc formed in which Qf the following ?
(A) Ovary L F(B) Style

(C) Leaves (D) Anther
60. iR =T ﬁwﬁﬁ '@?ﬂ 2 |
W TwmEm | @ eﬂsqﬂgm
Blood pressure is controlled by _ i
(A) Teétis_.‘ | 1 b _"(13)' ’fhyrﬁgs
(C) | ﬁ‘hyrmd SRR, | (D) Ad_f‘e'riai o
61. ﬁq%ﬁaﬁmwaﬁﬁw&aéo |
a)  wEE R /)/ Tt
_(©)  fmifsEm X
_ Wh1ch disease is related to resplratory system ?
(A) Diabetes i | iy (B)A Malaria

(C) Pneumenia : P (D) Diarrhoea

24(M)-H/S-41003-(s4/60)
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62. T i} WU @1 Tl Rk T

@) G U

(o dgefm (D) Fefe
The sugar level in:blooa is controlled by

3& (A) Estrogen (B)  Progesteronc
(C) Insulin ‘ (D) Relaxin |
63. wHa I H ged Tt Hifkee HE-H P

(a)  wiEARE * '/(B) ‘ Hﬁm SR

© TR D) o BREH

Which is the longest cell of human body ?
(A) Muscles . (B)  Nerve cell
(C) Blodd cell | (D)  Heart cell

64. Wwﬁmwﬁ-mwmmm%a

/(4{)” FIEIEEGE @ wm
41 (D) e srwe
Which part of the food is d1gested in buccal cavny ?
(A) Carbohydrate_ (B) Protein
- (C) Fat’ .
(C) Fa . (D). Nucleic aciq

24(M)-H/s. )
(M) . H/ S-‘} 1003-(54/60) Pa Qé_a
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65, HIehE gl 20 cm o eaet gdor Y aghar B B0

(A) 15 cm @/10 cm

(C) | 40cm = )< (D) 60 cm

The radius of curvature of a concave mirror of focal length 20 cm 1s
(A) - 15cm ‘ (B) 10cm

(€) 40cm | D) 60 cm .

66.'mﬁwmq@wm@amwmﬁm%|ﬁmmﬁ@q

_ﬁmmaﬁqé:ma‘ar%aﬁn?
A ﬁﬁm' /qgfqrraﬁw
©) auf‘—ﬁr«%crm"-' ;"',_(D,)‘ swﬁﬁmﬂ

A whitc ray is 1nc1dcnt obhquely on a glass slab Which of the

following will occur with the first refractlon ?
(A) Deviation ' _ | (B) Total reflection
(C) Dispersion (D) Al of these

67, witey fgw wRa § e A A

S B
@ wm X e

24(M)-H/S-41003-(s4/60)| . Page 27 of 40
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In domestic electric circuit thc colour of ncutral wirc is
| (A) Red (B) Green
(C) Black ' (D) | Yellow
68. Pﬂgﬁﬁﬁﬁrww%mmmm% ?
@/ﬁga:ﬁa I
© dwhR X (o) forga S
In which device docé_thé split ring act .as a commutator ?
V(A) : Eleptric mptéf | V(B) ‘ Galvanpmcter
(C) Voltmle,té‘l; ‘\ | (b) Electric gencfator

69. R Tl A e ﬁgaﬁaaéﬁ'_mgﬁs = v §

(A)  Daniel cell

(C)  Solar cell (D) Eveready cell

N 24(M)—H/S—41003_—(54/60) page 28 of4
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70. @ﬁgﬂwéﬁ@wqﬁﬁamooaﬁﬂ%l%mmoﬁ%ﬁﬁﬂw
@W%’gﬁmﬂ@m°

(A) 12 TERR ~ (B) 2-8UER
| J\_(C/ 2 TERR )( (B)  0-18 TFERK
The resistance of the filament of an clectric bulb is 1200 ohms.

How much clectric current will the bulb draw from an electric

sourcc of 220 volts ?

(A) 12 ampere . (B) 28 ampere
(G ampere . (D) ' 518 ampere
71. T A I faega- e I 1 5VEl 1ca¢1ﬁmgsrrﬁqtawrﬁém
A) 15V - (B) 537
) 15J° vt D) 00

The eléctromotive force of acellis 1-5 V. The work done on passing

a charge of 1 C will be
(A)" 15V - (B)‘ 3J
(C) = 1-5J | D) 0
72. Euaqvﬁqaai@m%’)
\)/aawgmﬁéam%aﬁ g & Hr

(B) ST VT G, ST 3 T “
©) mmﬁﬂm%aﬁﬁavm%m
(D) i & w4

124(M)-H/S-41003-(s4/60) ~ Page 29 of 40



73.

74.

- (C)  plane mirror

Why is a rainbow colourful 2

droplCtS
(A) Dispersion of white light by water

(B) Absorption of water droplf:t;s
(C) Dispersion of white light by air

(D) Nonc of these

o1 1 e arvadish e o g E
@ 13%8 | (B-)' 1§ At

(};/ 1%3{@( )( 'o.

. The absolute rcfracuve index of alr is actually

(A) lessthan1l = (B) more than 1

(0 eqﬁal-tol' ; DES: S ‘(D)- 0

_W-W%mmmﬁwwﬁwmg

/mm | >< (D) sqﬁ@ﬁg:@

(A) convex mirror : (B)

(D) nc;

. ne Of these
EMH/S 410n~




m | | | [ 112 ]

ss  Sfegn § feew NE T AT BT | ?

(A)  HEH (B) WA

9/ T )< (D) el

Which of the following gascs is uscd in welding ?

(A) Mcthane (B) Ethync
() Ethanc | (D) Ethenc

76. T (Alkenc) T T 9 3
(&) C,Hyuio | " ®B)  CpHyu o
(C) Cn Hy, ' /t /C Hyp i -
The general formula of an alkcnc 1_&. : |
A) | CoMaiip o v B CpHanoz
@ - Calyy T DI R
77. ﬁmﬁéﬁq—mmmaﬁﬁ%é
Ay e (B) wHE
(C)  STHic ﬁq /K M g gl
Which onc of the followm.g is a clean cncrgy source ?
_(A) Coai | ‘ . (B) Wood _ |

Q) Natural gas (’Dl) All of these
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78. gnm-srﬁtﬁmfap}{m%aﬁaaa‘rﬁm%?ﬂ
@) 40848 B 50858

€~ 608 6-8- X (D) 70 478

Within which pH range docs our body work ?

(A) 401048 (B 50to58°
) 6:016.6:8 = L BT D)., 47101078

70 @awwﬁ%iﬁﬁmﬁrﬁaﬁﬁﬁ?% ? ’
). Caiton T CeHeOs
49/061412(56‘ _ . sy e,
Which.c)f the lfollowéng is the (,hemlcad fcél;mula of giucosc ? .
(A) C,H.OH i - e ' .céﬁé(% ﬁ
(C) CerHl,zoél , (D) ”C'6'H6:ﬁ '

B) 20

REVAL . \ .
__9/11 k[) D 14

. The atomic number of sodium is .

@ 17 ' ‘ (B) +
(€} -0 R AR
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